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B 7E RIERER[ 1 Sv/h] a5 BIEFERIu Sv/h]
o BIEXR =x =x =x "% = BIE R Ex Ex Ex e
100cm 50cm 5cm 100cm 50cm 5cm
2 BREILEE
1 |BEHRR 0.07 0.08 0.09 21 RIKH 0.09 0.13 0.19
2 |5 0.09 0.08 0.07 22 |EYBRTMMET 0.08 0.09 0.18
3 %jﬁk‘ﬁ‘ﬁ“’% 0.08 011 011 23 |M=/NEFMT 0.10 0.15 0.96
. AEEILAE
4 |BEMRIZ4E 0.09 0.10 0.1 24 TRk 0.08 0.09 0.13
FARERE =
5 RIKH 0.09 0.1 0.10 25 |1PE#E 5524 0.06 0.06 0.05
6 |FREEMRET 0.1 0.16 0.66 26 |4AFE%E 6£ 141 0.06 0.06 0.06
BARERE T—ILEESE NS
7 kB 0.08 0.09 0.10 27 HokO 0.06 0.06 0.07
8 |HEEMET 0.10 0.16 0.78 28 |EHELHEKO 0.06 0.11 0.36
BEizEHE S BE FRERE
9 VDELTF 0.07 0.08 0.09 29 T 0.08 0.12 0.30
HEERTEE HEL#HE
10 AT 0.07 0.09 0.15 30 T 0.06 0.07 0.11
AR ERIE
11 kB 0.08 0.08 0.10 31 |FEELEEKA 0.07 0.1 0.62
12 |dLEH=P9wAIE 0.08 0.09 0.11 32
13 |EPETEIERKH 0.10 0.13 0.16 33
14 [ EE 0.07 0.08 0.07 34
T=RA—FK
15 BIFE R 0.08 0.10 0.10 35
FZRa—htE
16 BEmRKA 0.08 0.09 0.10 36
17 |7=Ra—kh 0.07 0.10 0.10 37
TF=—RAO—+,A
18 BEmRKA 0.10 0.15 0.24 38
19 |AEERET 0.12 0.19 0.45 39
20 [tEERET 0.10 0.12 0.28 40
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